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Bilaga — Programkod

Parser.pro
/* TESTER ATT KORA */
runProgram(_) :—

parseFiles(['Test/testokl.pas', 'Test/testok2.pas', 'Test/testok3.pas', 'Test/testok4d.pa
s', 'Test/testok5.pas', 'Test/testok6.pas', 'Test/testok7.pas"', 'Test/funl.pas’

'Test/fun2.pas', 'Test/fun3.pas', 'Test/fund.pas', 'Test/fun5.pas', 'Test/testa.pas',
'Test/testb.pas', 'Test/testc.pas’', 'Test/testd.pas', 'Test/teste.pas’',
'Test/testf.pas’ 'Test/testg.pas' 'Test/testh.pas’ 'Test/testi.pas'
'Test/testj.pas’ 'Test/testk.pas' 'Test/testl.pas’ 'Test/testm.pas’
'Test/testn.pas’', 'Test/testo.pas’', 'Test/testp.pas’', 'Test/testqg.pas’',
'Test/testr.pas’', 'Test/tests.pas’', 'Test/testt.pas', 'Test/testu.pas’',
'Test/testv.pas' 'Test/testw.pas' 'Test/testx.pas’ 'Test/testy.pas'
'Test/testz.pas', 'Test/seml.pas', 'Test/sem2.pas', 'Test/sem3.pas', 'Test/semé.pas’'

'Test/sem5.pas']) .

parseFiles([]).
parseFiles ([H|T])

/* —— LEXER —-- */
singleCharacter (4
singleCharacter (
singleCharacter (
singleCharacter (
singleCharacter (
singleCharacter (
singleCharacter (
singleCharacter (
singleCharacter (
singleCharacter (
singleCharacter (
singleCharacter (-

keyWord
keyWord
keyWord
keyWord
keyWord
keyWord
keyWord
keyWord

program) .
input) .
output) .
var) .
begin) .
end) .
integer) .
real) .

translateToToken (
translateToToken (.
translateToToken (
translateToToken (
translateToToken (
translateToToken (:
translateToToken (;
translateToToken (*
translateToToken (
translateToToken (-
translateToToken (
translateToToken (
inWord (
inWord (
inWord (

(

(

’

c,C):
C,L):
c,c
3

/*

inWord
inWord

9,39).
45,45) .

lastWord('.").
lastWord(-1).

isNum(0)
isNum('0') .
isNum (1)

-C>96,
-C>064,
) :—C>47,

/*—

:-parse(H),

a4y . /*,*/
VA AV
). /xax/
). /x2x/
). /xEx/
). /xS
VAN
). /F) R/
) /***/
). /FER/
). /F=*/
) /*EOF*/

[:

] a551gn):

3 -1
r) =1

) -1
+,+) -1
1,eo0f):

S, number)
L,id):

-L\=

C<123.
Cc<91,

C<58.

() */

*/

/* a - z

/*1-9%/

write(

=S\=1[_,_]
1,

L is C+32.

"\n\n'"),

*/
/*A - 2%/

, atom_chars (S,

parseFiles(T) .

[HI_]),

isNum(H) .
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isNum('1l').
isNum(2) .
isNum('2"') .
isNum(3) .
isNum('3"').
isNum(4) .
isNum('4').
isNum(5) .
isNum('5"') .
isNum(6) .
isNum('6"').
isNum(7) .
isNum('7') .
isNum(8) .
isNum('8"').
isNum(9) .
isNum('9"') .

openFile(File,S):-see(File), readIn(S), seen.
readIn([W|Ws]) :-get0(C), readWord(C,W,Cl), restSent(W,Cl,Ws).

restSent (W,_, []):— lastWord(w), !.
restSent (_,C, [Wl|Ws]) :—readWord(C,W1,Cl), restSent(Wl,Cl,Ws).

readWord (C,W,Cl) :-C\=(-1), singleCharacter(C), !, name(W, [C]), getO(Cl).

readWord (C,W,C2) : -C\=(-1), inWord (C, NewC), ', get0(C1l), restWord(Cl,Cs,C2),
name (W, [NewC|Cs]) .

readWord (C,W,C2) :-C\=(-1), get0(Cl), readWord(Cl,W,C2).

readWord (_,-1,-1):-1!.
restWord(C, [NewC|Cs],C2) :—inWord(C,NewC), !, get0(Cl), restWord(Cl,Cs,C2).
restWord(C, [],C) .

makeTokenList ([E],E) :-keyWord(E), !.

makeTokenList ([E], [B]) :-translateToToken(E,B), !.
makeTokenList ([H|T], [HIB]) :-keyWord(H), !, makeTokenList (T,B).

makeTokenList ([H,H2|T], [F|B]):—-translateToToken ([H,H2],F), !, makeTokenList (T,B).
makeTokenList ([H|T], [F|B]) :—-translateToToken (H,F), makeTokenList (T,B).

getTokensFromFile (File, B):-openFile(File, S), makeTokenList (S,B).

/* —— PARSER —-- */
match(To, [To|Tail], Tail):—!.

parse(File) :—getTokensFromFile(File,B), write('-- Program: '), write(File), write(' -
-\n'), prog(B).
prog (P) : —progHeader (P, T), varPart (T,Y), statPart (Y), ', write ('** Parse
successful.\n'").
prog(_):-write('** Parse failed.\n'").
progHeader (In,Ut) : - match(program, In, Svl),

match (id, Svl, Sv2),

match('(',Sv2,Sv3),

match (input, Sv3, Sv4),
match(,,Sv4,Sv5),
match (output, Sv5, Své),
match(')',Sv6,Sv7),
match(;,Sv7,0t).

varPart (In,Ut) :— match (var, In, Svl),
varDecList (Svl,Ut).

varDecList (In, Ut):-varDec(In, [H|T]), H\=begin, !, varDecList ([H|T], Ut).
varDecList (In, Ut):-varDec(In, Ut).

varDec (In, Uut) : - idList (In, Svl), match(:,Svl, Sv2), varType (Sv2,Sv3),
match(;,Sv3,Ut).

idList (In, Ut):-— match(id, In, [H|T]), H=,, !, match(,, [H|T], Svl), idList(Svl,Ut).
idList (In, Ut):— match(id, In, Ut).
varType (In, Ut):- match(integer,In, Ut);match(real, In, Ut).
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statPart (In) :— match(begin, In, Svl), statList(Svl, Sv2), match(end, Sv2, Sv3),
match(.,Sv3,Rest), Rest=[].

statList(In, Ut):- stat(In, [H|T]), H=;, match(;, [H|T],Svl), statList(Svl, Ut).
statList(In, Ut):- stat(In, Ut).
stat (In, Ut):-— assignStat (In, Ut).

assignStat (In, Ut):-match(id,In,Svl), match(assign, Svl, Sv2), expr(Sv2, Ut).

expr (In, Ut):- operand (In, [HIT]), (H="*"; H="+"), operator ([HIT],
Sv2), expr(Svz, Ut).

expr (In, Ut):— operand(In, Ut).

operand(In, Ut):- match(id, In, Ut); match(number, In, Ut).

operator (In, Ut):- match(+, In, Ut); match(*, In, Ut).

Bilaga — Korning

-— Program: Test/testokl.pas --
** Parse successful.

-— Program: Test/testok2.pas --
** Parse successful.

-— Program: Test/testok3.pas --
** Parse successful.

-— Program: Test/testok4.pas --
** Parse successful.

-— Program: Test/testok5.pas --
** Parse successful.

-— Program: Test/testok6.pas --
** Parse successful.

-— Program: Test/testok7.pas --
** Parse successful.

-— Program: Test/funl.pas --
** Parse successful.

—— Program: Test/fun2.pas —--—
** Parse failed.

—— Program: Test/fun3.pas —--—
** Parse successful.

—— Program: Test/fun4.pas —-—
** Parse successful.

—— Program: Test/fun5.pas —-—
** Parse successful.

—— Program: Test/testa.pas —-—
** Parse failed.
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* x

* x

* x

* x

* x

* x

Program: Test/testb.

Parse failed.

Program: Test/testc.

Parse failed.

Program: Test/testd.

Parse failed.

Program: Test/teste
Parse failed.

Program: Test/testf
Parse failed.

Program: Test/testg.

Parse failed.

Program: Test/testh.

Parse failed.

Program: Test/testi
Parse failed.

Program: Test/testj
Parse failed.

Program: Test/testk.

Parse failed.

Program: Test/testl
Parse failed.

Program: Test/testm.

Parse failed.

Program: Test/testn.

Parse failed.

Program: Test/testo.

Parse failed.

Program: Test/testp.

Parse failed.

Program: Test/testq.

Parse failed.

Program: Test/testr
Parse failed.

Program: Test/tests
Parse failed.

Program: Test/testt
Parse failed.

pas

pas

pas

.pas

.pas

pas

pas

.pas

.pas

pas

.pas

pas

pas

pas

pas

pas

.pas

.pas

.pas
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* x

* Kx

* x

* x

* x

* x

Program: Test/testu.

Parse failed.

Program: Test/testv.

Parse failed.

Program: Test/testw.

Parse failed.

Program: Test/testx.

Parse failed.

Program: Test/testy.

Parse failed.

Program: Test/testz
Parse failed.

pas

pas

pas

pas

pas

.pas

Program: Test/seml.pas

Parse successful.

Program: Test/sem2.pas

Parse successful.

Program: Test/sem3.pas

Parse failed.

Program: Test/sem4.pas

Parse successful.

Program: Test/sem5.pas

Parse successful.




